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1. Why does slave Adam-4550 with gate open receive any data from Master Adam-4550 without identify the delimiter?
Ans :
Slave with gate closed will work normally.

Slave with gate open will receive all data which includes delimiter from master.

It means that slave with gate open will not identify the delimiter any more.
There are three examples to differentiate the slave with gate open and closed.
(1) There are one master and two slaves.

  Master : 9600, gate closed, address=10 ( If Master’s address is FF , its gate will be opend )
  Slave-1 : 9600, gate closed, address=01

  Slave-2 : 9600, gate closed, address=02

When master sends a data with delimiter and specific address ( ex : {01XXXXX ) to slave-1 , slave-1 will receive data XXXXX and slave-2 can not receive any data.
It is the same as {02XXXXX.
Slave-1 can not receive the any data.
(2)There are one master and two slaves.

  Master : 9600, gate closed, address=10

  Slave-1: 9600, gate open, address=01

  Slave-2: 9600, gate open, address=02
When master sends a data with delimiter and specific address ( ex : {01XXXXX ) to slave-1 , both of two slaves will receive all of the data {01XXXXX from master.
The delimiter is not workable for specifying address.
It is the same as {02XXXXX.
Both of two slaves will receive all of the data {02XXXXX from master.
(3)There are one master and two slaves.
  Master : 9600, gate closed, address=10

  Slave-1: 9600, gate closed, address=01

  Slave-2: 9600, gate open, address=02
When master sends a data with delimiter and specific address ( ex : {01XXXXX ) to slave-1 , slave-1 will receive data XXXXX and slave-2 will receive data {01XXXXX.
When master sends a data with delimiter and specific address ( ex : {02XXXXX ) to slave-2 , slave-2 will receive data {02XXXXX and slave-1 can not receive any data.
